Ratio to CMS

1000/ do)/dm [1/GeV]

=
o
N

10

[EEY

0.5

7000 GeV pp 7+Jet
_| ' I ' I I i I | T T T T T T I T |_4(£
c
= Filtered Jet Mass(anti-k (0.7), 150<p, <220, |y|<2.5) EE
— e
B _|©
o)
= — ANl
E =5
B |
B oo
©
= .=
= =
- =
(4p]
i 1<
(90)
= =)
= 0
— — ™M
= 1
- 1=
. m CMs %
E --3-- Herwig 7.2.0 default E =
— —a— Pythia 8.235 default 5 g
= ¢ Sherpa 2.2.8 default — §
= — 2
— = §
~ -1 O
[ - O
_| | ' | ' | | | | | | | |_ E
:l T T 1 T | t t ! | |:
- o E
1
[ . 0.5
| |
0 100




	Contents
	Page 1


